
DESCRIPTION

Power Door Kit automatically opens and closes the vent door
depending on fan operation - opens when indoor fan is operat-
ing, closes when fan is not operating.

PREPARATION

1. Disconnect power to the unit by unplugging the power cord
at the wall outlet or subbase, or disconnect power at the
fuse box or circuit breaker.

2. If the cabinet front is screwed to the chassis, remove the 1/4”
screw.

3. Remove cabinet front from chassis by tilting the bottom of
the front forward, lifting slightly up and forward.

4. Remove the PTAC chassis from the wallsleeve.  Position
the chassis so the back can be easily accessed.

PTAC
POWER DOOR  KIT

INSTALLATION INSTRUCTIONS

IO-379
April 2010

Front Mounting Screw
accessed
through louvers. 

Figure 1

POWER DOOR KIT INSTALLATION

1. Remove the shipping screw (if installed) from the vent
door.

Vent
Control
Lever

Vent Door
Shipping Screw

Figure 2

2. Open the vent door with the vent door lever located on the
left side of the chassis.  (Figure 2).

Motor shown exploded

Goodman Company, L.P.
5151 San Felipe, Suite 500  •  Houston, TX  77056

www.amana-ptac.com
© 2010 Goodman Company, L.P.

Must be factory installed



2

3. Remove the cable clamp from the vent door cable by re-
moving the screw holding the clamp to the bracket and
discard the clamp.

4. Disconnect the cable from the vent door by partially closing
the vent door and slightly bending the end of the cable while
pulling the Z-shaped end out of the hole in the top of the
door (Figure 3).

Vent
Control
Lever

Cable

Vent
Door

Cable
Clamp
& Screw

Figure 3

5. Remove 2 door brackets (Figure 4).

Door
Brackets

Figure 4

6. Remove the vent door from the slots in the partition panel
by lifting the vent door up and carefully pull the door hinges
out of the slots.  Set door aside.

7. Attach the strike plate to the top of the vent door using the
two #8 screws provided (Figure 5).

Figure 5

8. Attach the “L” shaped bracket to the partition panel
(Figure 6).

9. Reattach the vent door to the partition panel by inserting
the vent door’s metal tabs into the panel slots (Figure 6).

10. Attach one end of the spring to the hole in the bracket on
the partition panel.  Attach the other end of the spring to the
hole located in the bracket which is fastened to the vent
door (Figure 6).

Spring

Figure 6

Must be factory installed



3

11. Mount the door motor housing with two #8 screws to the
provided holes in the partition panel.  Ensure the cross pin in
the door shaft is rotated around so that it touches the rubber
bumper underneath the door motor housing (Figure 7).

Figure 7

12. With the vent door lever in the closed position, place the end
of the cable into the hole located in the door motor housing.
This will position the cable away from moving parts (Figure
8).

13. Attach the provided p-clamp to the partition panel (Figure 8).
There is a dimple at the hole location to mark where a 1/8”
hole will need to be drilled to mount the clamp.

P-Clamp

Figure 8

14. Route the door motor wires through the p-clamp, and then
through the wire clip with the motor wires, and then through
the hole in the partition panel where the compressor wires
are routed through the panel.
NOTE:  The permagum may have to be removed to feed the
wires through the partition panel.  When finished routing
wires through the panel, make sure wires have no slack and
replace the permagum back into place to prevent air leaks.
(Figure 9).

P-Clamp

Figure 9

Must be factory installed



4

WIRING INSTRUCTIONS
1. To gain access inside the control panel, remove the two

mounting screws, one on each side of control board cover.
Lift the cover up to gain access to the ribbon connector. Un-
plug ribbon connector from control board and remove cover
completely. Remove the side screw holding the panel in po-
sition, and tilt control panel forward, being careful not to pinch
any wires (Figure 10).

    

Figure 10

2. Lift the control panel up so the control panel is free of its
hinges.  Orient the control panel so there is easy access for
mounting components to the control panel (Figure 11).

Figure 11

3. Using the two #8 screws that are provided, screw the trans-
former to the control panel in the transformer mounting holes
provided in the panel.

4. Mount the relay in one of the three relay mounting holes  in the
control panel making sure that the threaded stud is in the
smaller hole and the metal tab is in the adjacent hole.  Screw
the provided nut onto the threaded stud from the opposite
side of the control panel.

5. Remove the knockout for the vent switch (Figure 12) located
in the control panel and snap the vent switch in the knockout
hole with the terminals inside the control panel compartment.
The numbers on the switch should be facing toward the con-
trol board.  Place the supplied label just above the switch.

Vent Switch
Knockout

Vent Switch

Figure 12

6. Using the two provided #8 screws, attach the terminal strip
to the partition panel inside the control panel compartment
(Figure 13).

Terminal
Strip

RD

RD

Figure 13

7. Once the wires are routed into the control panel compart-
ment, attach the door motor terminals to the 24 volt side of the
new transformer (see wiring diagrams).

8. Take BK and RD indoor fan motor wires from the control
board (high and low fan terminals) and place on the terminal
strip, each on a different set of terminals (Figure 13).

9. Take BROWN wire from the #3 terminal of the relay and place
on the control board FAN LOW terminal.  Take the ORANGE
wire from the #8 terminal of the relay and place on the piggy-
back terminal of BROWN wire.

10. Take the PINK wire from the #4 terminal of the relay and place
on the control board FAN HIGH terminal.

11. Please refer to the following schematics for proper electrical
wiring if the chassis has any of the following kits previously
installed:

Power Door Kit
Hydronic Heat Kit
Hydronic Valves

Must be factory installed



5

Figure 14
 Power Vent/Power Door with Single Stage Heat

OR

PK

RD

PK

BR

GY

VT

PK

RD

H
IG

H
 V

O
LT

A
G

E
!

D
IS

C
O

N
N

EC
T 

A
LL

 P
O

W
ER

 B
EF

O
R

E
 S

ER
VI

C
IN

G
 O

R
 IN

S
TA

LL
IN

G
 T

H
IS

U
N

IT
.  

M
U

LT
IP

LE
 P

O
W

ER
 S

O
U

R
C

ES
 M

AY
 B

E 
P

R
ES

EN
T.

  F
A

IL
U

R
E 

TO
D

O
 S

O
 M

AY
 C

A
U

SE
 P

R
O

P
ER

TY
 D

A
M

A
G

E,
 P

ER
SO

N
A

L 
IN

JU
R

Y 
O

R
 D

EA
TH

.

W
iri

ng
 is

 s
ub

je
ct

 to
 c

ha
ng

e.

WIRING DIAGRAM
Must be factory installed



6

Figure 15
Power Vent/Power Door with Hydronic Kit

LINE 1 HEATER 1 HEATER 2 LINE 2 COMPRESSOR
FAN
HIGH

FAN
LOW

REV
VALVE

OR

BR

RD

PK

PK

VT

GY

PK

RD

HIGH VOLTAGE!
DISCONNECT ALL POWER BEFORE SERVICING OR INSTALLING THIS
UNIT.  MULTIPLE POWER SOURCES MAY BE PRESENT.  FAILURE TO
DO SO MAY CAUSE PROPERTY DAMAGE, PERSONAL INJURY OR DEATH.

Wiring is subject to change.

WIRING DIAGRAM Must be factory installed



7

THIS PAGE LEFT INTENTIONALLY BLANK
Must be factory installed



8

 is a registered trademark of Maytag Corporation or its related companies and is used under
license to Goodman Company, L.P., Houston, TX.  All rights reserved.

Goodman Company, L.P.
5151 San Felipe, Suite 500  •  Houston, TX  77056

www.amana-ptac.com
© 2010 Goodman Company, L.P.

Must be factory installed


